
 

KERNEL_INFO _kernel_info_hog_get_gradient 

( 

  "HOG_getGradient", 

  3, 

………         

 __ek_size(1, 1)), 

  __port(__index(1), 

         __identifier("GRADIENT_MAGNITUDE"), 

         __attributes(ACF_ATTR_VEC_OUT), 

         __spatial_dep(0, 0, 0, 0), 

KERNEL_INFO _kernel_info_hog_get_cell_histograms 

( 

  "HOG_getCellHistograms", 

……………………….. 

         __ek_size(1, 1)), 

  __port(__index(1), 

         __identifier("GRADIENT_MAGNITUDE"), 

         __attributes(ACF_ATTR_VEC_IN), 

         __spatial_dep(0, 0, 0, 0), 

         __e0_data_type(d08u), 

         __e0_size(1, 1), 

…………………………. 

 

                Table : same port name "GRADIENT_MAGNITUDE" 

 

 

Picture :cannot in same name of ports 

 

 


